212ss-09 Lace Skirt

Suggested yarn:
* Pierrot Yarns Cotton Lace #20 [100% cotton; 170 yds/155m per 1.41 0z./40g skein]; color #202 ivory, 9 skeins [350g]

Tools/Notions:
+ 2.0mm (US steel hook 4) crochet hook or size necessary to achieve gauge
* 67cm/26.38" length of waistband elastic (20mm/0.79" wide)

Finished measurements:
* waist 66cm/25.98"
* length 46.5cm/18.31"

Gauge (10cm/4" square):
* pattern stitches A, B, D: 41.5 sts and 15 rows

Gauge may vary according to individual crochet style. Change hook size if necessary to achieve gauge. Alternatively, rework pattern with your own gauge measurements.

-------------------------------------------------------------------------------------------------------------------------------------------------------------

Crochet Tips

Skirt: Begin skirt section A by working into bottom loops of chain, then working in pattern stitch A and pattern stitch B. Work sections B and C in pattern stitch A, decreasing in pattern stitch C
and C', respectively, before each of these sections. Make 2 identical skirt pieces, then seam sides with chain seam.

Belt: Working stitches into edge of section C, work in pattern stitch D in the round. Continue to belt. Fold belt to inside, and tack down with whipstitch, inserting elastic as you seam.

Finishing: Work edging in the round along hem.

Abbreviations:

ch = chain

rep = repeat(s)
sc = single crochet (US)

-------------------------------------------------------------------------------------------------------------------------------------------------------------
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Pattern stitch C (2.0mm hook) Edging (2.0mm hook)
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Pattern stitch D and belt (2.0mm hook)
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* * *
* = 32 repeats

Work 1 st into seam
stitch from skirt.
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